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Instructions W

Study the following information carefully and answer the questioﬁ‘s\ K“\‘gen below :

Eight persons - H, |, ], K, L, M, N and O - are standing m*a\stralght I|n at equidistant. Some of them are facing north
while others are facing south. M is standing third to the rlgh‘tto H /M is standing at one of the extreme ends. L is
standing third to the left of H. The immediate neighbours of | face’ north N is not an immediate neighbour of H. The
persons standing at the extreme ends face the sa\me direction (Both are facing either north or south). The immediate
neighbours of H face just opposite dlre?tlon as t t of M. The immediate neighbours of O face opposite directions with
respect to each other. One of the |mmed4at&ne|g‘t1 ours,oﬁ—l_7|s K who is facing north. | is standing between ] and M.
Not more than four persons are facing north:- \t

=

A
=3,

Question 1 \\“'
<

Who among the following is fourth’fo the right of )?

//

]
A N \ /
N\
B | —
C H /’,_‘\\
A A S
D L / 5
9,
N
E K ~-\_“;",//
Answer: D l/f\/
/"\5\\‘\
Explanation: S

\
M is standing third to the right/to H and M is standing at one of the extreme ends, => let M is standing at right end,
thus H is facifig north direction.

L is standidg third to th%‘left of H, => L is standing 2nd from left end.
lis standin‘g'b_etweery/}/hd M, => | is standing to the immediate right of H and | between J and M.

N is not an M'neighbour of H and one of the immediate neighbours of L is K who is facing north, => O is
standing to the immediate left of H.

The immediate neighbours of O face opposite directions with respect to each other, => since H faces north, the other
neighbour has to face south (which can't be K), thus N faces south direction and stands between L and O. Thus, K

stands at extreme left end facing north. //‘

The persons standing at the extreme ends face the same direction, ;$ M/faces north

The immediate neighbours of ] face north, => | also face north. / P N
Not more than four persons are facing north, => L, O and | face S uth c%rectlg ) )

KILIN|O|H[IJ|I|M /, I ,///:‘S\
U EIRAEREI R Pl )
L is fourth to the right of J. \“'\\ v\»f//
..v ,)
=> Ans - (D) = g
K\_\.\
Question 2 \\_\:\\\
Who among the following is exactly between L ?nd )? \ \‘7
N /"'/
A N N
B O (\_\ \\.\\\
. X\
. \:\ (\\
.
D | \.\‘\_\,
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g None (

Answer: B LN \ y.

Explanation:
M is standing third to the ri

thus H is facing north dire [6n A .
/ \ _\’;'
ofﬁ, => Lis standing 2nd from left end.

\ /
| is standing between J and M, —>"}-is/s’tanding to the immediate right of H and | between ] and M.

ai ~L—Land M is standing at one of the extreme ends, => let M is standing at right end,

L is standing third to the |

N is not an |mmed|a(e neighbour of H and one of the immediate neighbours of L is K who is facing north, => O is
standing to the nn@llate left of H.

The immediate ne|ghboh{s of O face opposite directions with respect to each other, => since H faces north, the other
neighbour has to face soutﬁ\Mhlch can't be K), thus N faces south direction and stands between L and O. Thus, K
stands at ex,tr,eme left end facing north.

The persor{(s( standing alfthe extreme ends face the same direction, => M faces north
The |mmeo‘\te naghpéﬁrs of ] face north, => | also face north.

o
Not more than\fourrﬁrsons are facing north, => L, O and ] face south direction.

KILIN|JO|H|J|IM

AN EEAEBE y

O is exactly between L and J.

=> Ans - (B) /
Question 3 [f / /

Four of the following five are alike in a certain way based qn ;he abp%aﬁangement and hence form a
group. Which one of the following does not belong to Fha Mou))}—

)

A N \’\,‘_ Ef’
B L X | 4
QO
c o O
\\ "\\7
o \
D ) X )
. /]
E K Nt
Answer: E \\
&\
NS \‘. \k.f e
Explanation: N \\\ —
M is standing third to the right to H and M is st\dm\gxqt one of the extreme ends, => let M is standing at right end,
thus H is facing north direction. 9
7\
&

L is standing third to the left of H, =>.Lf|s standing 2nd from left end.
{
| is standing between ) and M, => ] |§ %tandlng to tyne immediate right of H and | between | and M.

N is not an immediate neighbour of H\ Mone/of,t/he immediate neighbours of L is K who is facing north, => O is
standing to the immediate left of H. \— —

The immediate neighbours of O face opposite directions with respect to each other, => since H faces north, the other
neighbour has to face sou{y/(whh;h‘san t be K), thus N faces south direction and stands between L and O. Thus, K
/fa

stands at extreme left end facin ﬁ\é‘rtb >
/ N

The persons standing at the ex r“eme/eﬁ»ds face the same direction, => M faces north

The immediate ne|g?bours of J fate—ﬂ’orth => | also face north.

Not more than foufr\pé_rsons are facing north, => L, O and ] face south direction.
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K|LIN|O|H[J|I|M
IR AR R R

Apart from".\l(,_ all are fa_cing south.

=> Ans - (E)
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Question 4

Who among the following is to the immediate left of H?

A O * /)
B | | / .
c I |
D L
E K
Answer: A

Explanation:
M is standing third to the right to H and M is standing at one of the extreme ends, => let M is standing at right end,
thus H is facing north direction.

L is standing third to the left of H, => Leis _standihgr 2nd from left end.
| is standing between ) and M, => ] is sta.ndir-.lg 0 tﬁe immediate right of H and | between | and M.

N is not an immediate neighbour of H and one of the |mmed|ate neighbours of L is K who is facing north, => O is
standing to the immediate left of H. ‘

The immediate neighbours of O face vopposite directions with respect to each other, => since H faces north, the other
neighbour has to face south (which gan't be K), thus N faces south direction and stands between L and O. Thus, K
stands at extreme left end facing north

The persons standing at the extreme ends face the same direction, => M faces north
The immediate neighbours of ] face north, => | also face north.

Not more than four persong are fa.c'i_ng north, => L, O and ] face south direction.

K|LIN|O|H[J|I]|M
IR

O is to the immediat_e_; left of H.

=> Ans - (A)
Question 5
How many 'p‘érsons are standing exactly between | and 0?

i. \

A Three ‘>
B Four
C One
D Two
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.-"__ "‘-L\
g None [ / /(
|

| 3 f
Answer: D /" f,rf J W '
|
i / Lo
Explanation: f' vV = <
M is standing third to the right to H and M is standing at one/ oﬁ{ exp[/me elp}is => |let M is standing at right end,
thus H is facing north direction. \Q\\ N /

—
\

L is standing third to the left of H, => L is standing 2nd from left end \ ’)
| is standing between J and M, => ] is standing to the mmedtai;e rlght of H and | between ] and M.

N is not an immediate neighbour of H and one of the |mmed|ate ne\*ghs)ours of L is Kwho is facing north, => O is
standing to the immediate left of H. & > .\

The immediate neighbours of O face opposite directions W{tﬁ*i:espéc{ to each other, => since H faces north, the other
neighbour has to face south (which can't be K), thus N faces south dlrectlon and stands between L and O. Thus, K
stands at extreme left end facing north. \\

The persons standing at the extreme ehds face thé\samsdq_lrf ction, => M faces north

The immediate neighbours of | face north, %@o\z“ace north.

Not more than four persons are facing north, => L, O\}\de face south direction.

”>
K{LIN|JO/ H[J|I|M //
.
NEIRIEARE RN / /7
2 persons (H,)) are standing exactly bét\eeﬂqLén/d 0.
=> Ans - (D)
Question 6 N
/ 7,-”\- 3 \\\\
The immediate neighbqlﬁrs l('/L ark\l\:a"
il ”i
=
A MandN o

B NandO Q\

C KandN ~U

A
, /

D NandH
J | .
E JandH ' / /
Answer: K{/

Explanation:
M is standing third to the right to H and M is standing at one of the extreme ends, => let M is standing at right end,
thus H is facing north direction.

&
L is standing third to the left of H, => L is standing 2nd from left end./«»'/

/-
| is standing between ] and M, => ] is standing to the immediate rjdht of % and/LbeEweenJ and M.
V- <
N is not an immediate neighbour of H and one of the |mmed|até nanhbg/urs q{L is Ij\zvho is facing north, => O is
//

standing to the immediate left of H. ,r

The immediate neighbours of O face opposite directions with res ee’c to/eaef{other => since H faces north, the other
neighbour has to face south (which can't be K), thus N faces sou h d|retf(|on ‘and stands between L and O. Thus, K
stands at extreme left end facing north. /\

The persons standing at the extreme ends face the same dlrectlon 5? NH‘afes north
The immediate neighbours of ] face north, => | also face n{\er_ic\h. v

-~

Not more than four persons are facing north, => L, O and ] f:é\éé::c,;‘oxkt\h direction.
L
o )

.

.‘\-‘\:‘x“--., / j
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The immediate neighbours of L are K and N ==

=> Ans - (C)
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Question 7 | ']

Who among the following is third to‘!the_left/ of N?

A K 5
B | g ;
| /)
C H )
<
D |
E O
Answer: B"_',',f-
Explanatlbn

M is standlng third to the right to H and M is standing at one of the extreme ends, => let M is standing at right end,
thus H is facmg north direction.

L is standing third to the left of H, => L is standing 2nd from left end.
| is standing between | and M, => ] is standing to the immediate right of H and | between | and M.

N is not an immediate neighbour of H and one of the immediate nelghbours of L is Kwho is facing north, => O is
standing to the immediate left of H. P

The immediate neighbours of O face opposite directions with resp,_ec(t to e,éch other, => since H faces north, the other
neighbour has to face south (which can't be K), thus N faces south directi"on ahdstands between L and O. Thus, K
stands at extreme left end facing north. (5 ) ;' ))

' \ 1

The persons standing at the extreme ends face the same dlrectlon ﬁ> M face§ north

.—ﬂ

The immediate neighbours of ] face north, => | also face north

Not more than four persons are facing north, => L, O and | fa"ce s\.outh'-_d_i“recti’o"n".

K|L N[O |[H|[J[1|M .&
PLOPELE o

J is third to the left of N. W

=> Ans - (B)
Instructions

Study the given information and answer the givén questions.

Six people--K, L, M, N, O and P live on SIX different floors of a_building not necessarily in the same order. The lower
most floor of the building is numbered 1, the above that is numberd as 2 and so on till the top most floor is numbered
6 . L lives on an even numbered floor. L lives |mmed|ately below K’s floor and immediately above M’s floor. P lives
immediately above N’s floor. P lives on an even nurhbéij_ed floor. O does not live on floor number 4.

Question 8

On which floor does N live ?
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s "
. ()

7

E 2 (
\l
Answer: D K
S
-,

Explanation:.
According tdtﬁe given information K, L, M, N, O and P are arranged as follows:

"
W,

K
L
M
P
N

Hence, N is living at the 1st floor.

Question 9 [ﬁ\
1
Who amongst the following lives on the floor number 2,2 \
——

4
A K ZN(/C/\
c L \\

D M

J
= \/)
Answer: B

Explanation: %
According to the given information K, L, M;*N,©.a P anged as follows:
(0] \

K
L
M
P
N

Hence, P is at the sec

ond f /;._\.
o
IB erk Important Questions PDF

Question 10 ('7

\
Four of the follo h\g\five are alike in certain way based on the given arrangement and hence form a
group. Which of the ]!oyging does not belong to that group ?
=

2D
A MN /4

( .

i
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B OL
C KM
D LP

E PK

Answer: E

Explanation: ‘
According to the given information K, L, M, N, O and P are arranged as follows:

0]
K
L
M
p

N

And in the options, 4 out of 5 are given as where the difference between two persons is of one person but in option E
there are 3 people between P and K. :

Hence, answer will be E
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